
5mm * 8mm Flexible Coupling 1
5mm MXL Aluminum Timing
Pulley 3
8mm Acme Nut Block 1
8mm Metric Lead Screw 1
Aluminum Spacers 1/2" 11
Aluminum Spacers 1/4" 2
Aluminum Spacers 1/8" 4
Ball Bearing 625 2RS 2
Dual V Wheel Kit - Delrin 10
Eccentric Spacers 12
Inside Hidden Corner Bracket 4
Lock Collar 8mm 2
Low Profile Screws M5 15mm 1
Low Profile Screws M5 35mm 1
Low Profile Screws M5 40mm 1
Low Profile Screws M5 8mm 3
M3 Cap Head Screws 30mm 8
M3 Cap Head Screws 45mm 3
Motor Mount Plate 3
MXL (1/4″) Timing Belt 12 Ft
Nylon Insert Hex Locknut 5mm 34
OpenBuilds Solid V Wheel Kit 6
Slot Washer - 12x5x1.5mm 13
Socket Head Screws M3 8mm 1
Spacer Block (V-Slot) 2
Tee Nuts (25 Pack) 3
Threaded Rod Plate 2
Universal L Brackets Double 4
Universal L Brackets Triple 5
V-Slot 20x20 1000mm 1
V-Slot 20x40 1000mm 2
V-Slot 20x60 1000mm 1
V-Slot 20x80 1000mm 3
V-Slot Gantry Plate 5

Component Option Quantity


